DHI6FE _L3H

iff B B .~ = F KB B F
X I K R = B =

[

SHeE 4H 1H
woHefE 9H30H

i



S 6FE L+ HMERIAHTKESZREDEBINN

1 S|EOME
(1) EBOIKR

X5y T 6 FE_LHH B0 5 FE_LHH 1B

BUIUKE 139,354m

] 27,860,280

Ik E 182,231m

BINR 76.47%

Kb A 2,697 A




2 BRI

(1) FPEOWTIRR (B 659 H 3 08%RA)

OURESHIR AR VT H
A (B : F9)
BB TEIREA 'ON=TL] P$ATR
ToKEERAR 53,421,000 27,860,280 52.2%
ZOMMDEZEING 20,140,000 10,070,000 50.0%
=5t HBE 131,480,000 60,000,000 45.6%
REIBIRERA 128,309,000 64,145,500 50.0%
HEUNER 10,000 0 0.0%
T DT RIF 300,000 0 0.0%
ait 333,660,000 162,075,780 48.6%
< i (B : F9)
BB TEIREE X HERE PHATR
BERE 7,316,000 569,800 7.8%
WIS E 96,322,000 37,133,549 38.6%
T fRE 23,157,000 417,743 1.8%
RSN E 193,097,000 96,548,500 50.0%
ILFIR 11,410,000 5,529,269 48.5%
THBR RO HER 1,000,000 0 0.0%
T DAMAFRIHER 1,258,000 583,088 46.4%
Bi= 100,000 0 0.0%
ait 333,660,000 140,781,949 42.2%
QEANARUZH
XA (BE£7 : F9)
e THEIRER W N=E-L PATE
BEE 15,200,000 0 0.0%
=5t E 78,570,000 39,570,000 50.4%
EE#EE 15,200,000 0 0.0%
RoEaaiad 16,000 80,400 502.5%
THIENREES 700,000 0 0.0%
ait 109,686,000 39,650,400 36.1%
< i (B : F9)
BB TEHIREA X HERE $ATR
BNURE 31,900,000 1,815,000 5.7%
TEEERES 131,374,000 66,293,064 50.5%
THIEE 700,000 700,000 100.0%
EEHpERER 500,000 0 0.0%
ait 164,474,000 68,808,064 41.8%

XIBERNE RO RMAZERA (FFERFEEAD 2 DD 1 ZMX TER UTZ.




1
(1)
(2)

1)
(2)
(3)
(4)
()

3 B
(1)
(2)
(3)

4 5

(2)

(2) BSH6FE HMREAHTKESESERTES

HH6FE4R 1B SBH6FIH30HET)

EF N &
T oKk & &£ B #
T Dt E ¥ IR &
¥ 8 H
= ES =
s B % =
oo E A B
T 0 Mt X & H
= * i ES
4 I &=
ft = & W B £
E B &R A
i X &=
94 B H
(1) HFBROEFEEREE
i < t
7 o) F &=
BlA &

5 %

1)y = o i %5 B M =

6 4F

Bl B X

1) = o fit % B # X

5 & E

oo &=

MEEREBENZIRSE
SEERLDOMBRRE

25,331,630
10,070,000

519,800
34,014,315
388,554
96,548,500
0

35,401,630

131,471,169

60,000,000
64,154,500
0

5,529,269
0

124,154,500

5,529,269

(B : F9)

96,069,539

118,625,231

583,088

583,088

XIBMEMNE N U RMAZERA (FFERTFHEEAD 2 00 1 ZMX TER UTZ.

22,555,692

21,972,604
0

21,972,604




(3) HH6FE HREAHTKESESRTERTRE

(5 6%E9H3 08T
({3 : M)
S| G| ®E ]
1 BEE&RE 3 EE&E
+th 11,445,256 s 909,372,625
ety 622,918,118 EEaEE: 909,372,625
ey 4,642,457,776
AR OB 2,527,804,656] 4 REIGE
EERE 31,503,110 —BEAD 0
TE - BERUESR 8,305,897 o 65,080,275
EBRENE 3,200,000 eSS 43,870
BUEZNE RET4E -3,709,535,861 ZOfTREIEE 2,528,650
EE&EAst 4,138,098,952| mEamast 67,652,795
2 RENEE aEast 977,025,420
RawEs 27,678,271
RiNE 1,208,010| 5 #EENZS
CEAE IS 700,000 SRS S 5,183,689,478
EIEIH 34,620 N RETEE -2,423,990,869
ZOMTREIERE 3,363,423 #@mINAET 2,759,698,609
RENEREAST 32,984,324
6 EXx&
BEEAE 406,865,182
BABRE 0
aAeaE 406,865,182
7 BRE
EREIRE 5,521,461
FIRRIRE 21,972,604
FReast 27,494,065
arast 3,194,057,856
aEqst 4,171,083,276 afE - &AAst 4,171,083,276




